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And the laws of 18D — ™95 TIRN2 RNYD IRD 19NN
However, are not applicable by figs and vegetables

OVERVIEW

mooin will clarify certain 7%5 M%7 including what is the Xn»7IR77 78D 217,
and why the 1127 did not institute X2 by 27”1 71XN, and why the X773 singles
out 7IXN, when in reality most trees are exempt from 7RD.

m>doIN responds to an anticipated difficulty:
— AN INVIPY PR NMNITIN 219 XNT NIND NPT IND
It is not only the fig tree that is exempt from 7X9, for the fruits of most
trees are not harvested at the same time -
— NIN9A AMNT ('n mwn) INDT RNP P92 BPUNT NNDIN N P9 )N
And there are only eight trees, which are enumerated in the first P22 of

JND NOon that are 7IXD2 21, so why single out the fig tree, when in reality most
trees are MWD from 1IN,

mooin replies:
— DY NN NVPYIT DIVN NIND VPI NON
However, the reason he mentions ;7R8n, is because it is harvested many
times’ in one season -
— 915 NIND 1D NI 1N 9929 /) YIN (3,n3 xana x33) DINAN NHPINA 199INT
As we say in 2°n277 nptn 209 that there may be a situation where he (ate)
[picked from the tree] three fruits in different times on one day, for

instance figs, etc. Since the figs ripen at different times it is possible to have three
separate harvests (even) in one day. Therefore when the 73wn writes IR 1NV°PY, it most
obviously excludes m18n which is the least nrxs NVP5.

mMdoIN expounds regarding the XD 21°10:2
— 9NN YIYN T NIN NINDA 299110 NI RNPIIINTNT ON 12929 99IN)
And the n''= says that 77077 32 the obligation of leaving 782 is only for

grain, (olive) oil and (grape) wine’. moon goes on to enumerate how we know
that (only) 277%™ W17°N 37 are 7707 A AXD2 210N,

" The mxn is harvested in more separate times than any of the other trees.
? See 2717 1w that the "1 is explaining why indeed the D31 were not 1n» to give axs from all trees.
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— 11995 182N 53 7N VIAND *3 *2N3Y 137 NN AND 233 ‘N1 VYD oNYT
For the word =°2p (harvesting) which the Torah writes concerning 1IXD is
referring to harvesting grain, which is what 7°¥p universally refers to, and it
is (also) written in the torah “when you harvest your olives etc. When you

harvest your vineyard etc. that in these two instances you should leave over 1xs for
the poor. We see from these three 0’2105 that the Xn»7IRT» 78D 21°17 is only for w1 n 137
977%" (the same as wyn).

mooin asks on what we concluded that 71X9 Xn*7K77 is only for 277%™ W10 127 —

— NINOA 122N RNOY PIDT PNIYIP N9 2INY D152 DN NN WIITT XM
And concerning the w97 in 2°1772 N9, where it says: one may think that
we should include ®y¥¥97 PR p that they should also be 257 in 1IRD -

— 5919 97U Y9N NINY YD N1 DININ P8P NN BII81P2) 999 MmN
the 790 teaches us by writing 25%9R 9 %P NX 2593721 just as the %P
(the grain harvest) is food and can be kept for an extended period of time

without spoiling) etc., so too all items which are food and can be kept are %92 217,
to the exclusion of 1¥1%7 PRwWwp, which are vegetables and cannot be kept for extended
periods of time without spoiling, they are 7105 from 7Xd. It seems from this 5>"n that other
foods which can be kept, other than 977%" 137 w17°n would be Xn»71X77 X921 2711 because
they are similar to 7°Xp. This would contradict what the n"9 just said, that only w17 n 137
00X are RNPMIRTA AXD 20,

mooin replies that there is no contradiction, because all other foods besides 771%™ w17°n 137
are 7%92 2 n only 112771, and as for the 105 that is brought by the 2", that 109 -

— N> NNONON

It is only a support for the 251 nipn who instituted 785 in other foods besides 137
97%°1 WI°N. M90IN proves that it is only an XN21oX and not a real XN NRTA TIN5 —

— 132979 N7 ) IY GN NIPN PO TUYN YT 99 onnT

for there the 2" also uses a mw=T from a P92 to teach us that we are

obligated to give 9% "wyn, even though it is universally accepted that wyn

P77 1s only a 312977 21771, so obviously the 3" is using it as an Xn21oOX and the same is
true by nRo.

? For if the o 21 would extend to more than just 9778 w1°n 137, then one might ask why do we not say
2173 993 by 1R, for it is greater (XnR71) thanwyn, for MWy is only by 771%™ w1°n 137. See 2717 1W5.
(20,30 [1MK] XIp*) "3 77w NRD 7230 K9 DX TEP NX 027Ep
% X9-3,72 (X¥n) o7,
6 1y PRIP are types of cucumbers and squash.
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mooin asks:

— 179 YVYYN NPNY 11D N INTT NINNIAY P93 NN NPN XYY NN
and the reason why the 22017 did not institute that we should give nR®
from vegetables and figs — and all the other items that are similar’ to 7’
7IRM, and are exempt from 7XD, as they were jpn» that one should give

Twy» from these plants which are exempt from 7x9. What is the difference between
wyn and ARD?

mooIN answers:
— MY AR NI VYN 937 TNNRD INVIPY PRT DIVN DN 13229 99N
The n''= says since these trees are not harvested together as one at the
same time, its XD is minimal at any specific time, because only a small amount is
being harvested at any given time, therefore the X5 left over from such a limited harvest
it minimal —
— IVPY T OIYT PRY 295 BIYVANNY NIN 11 1M1 NA DY 1991 U
And the poor people will lose more than they will gain by gleaning this
minimal amount of X5 for they waste their time, not knowing when is the

time of the harvest, so they may keep coming to the fields, only to go away empty
handed.

— 9NN DIPNA INMNIIY NNN N 1TI09 2XUN R 99) 1P 19291 PRY 927
and similarly something which cannot be stored, like vegetables is also
not worthwhile to glean, since you cannot store it, and therefore you gather
only as much as you can eat for this short period of time and the poor
people will lose more by gathering vegetables which they cannot store,

instead of gaining if they were to go to another place where they will be able to
gather large amounts of food which can be stored for longer periods of time. Therefore
the 0°»5m out of concern for the o»1¥, were not 71X jPn» in these types of food. However
awyn, which the 2"7va has to give on his own, the "% or *1v will only gain by the 0°5n
being Wwyn jpnn in additional foods, because the *1 "% do not have to go and gather
them, rather the 2"7v2 will provide it for them.

SUMMARY

XN7IR7A there is a XD 2117 only for A7¥™ w17°n 337. The 2Mon were 72N
other plants for XD except those which o»pnn PRY NARD NWVPY PR, for that
would cause the 071y to lose more than they would gain, since they will not

7 mpoIn mentioned previously that all trees (besides eight) are exempt from 1x9
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be able to glean that much produce. 71Xn stands out among trees, in that its
fruit ripens in so many stages that it is the primary symbol of nfixXd jnwp% PX.

THINKING IT OVER
1. What might be a different way to structure the order of information that
mMooIN is teaching us?®

2. Does """ agree with N190IN concerning “RN™MXTA XD 211?

8 See X"3wA and " Sw nw.
? See 19 931X X1 95 7"7 *"wA and 0"nn on this MOOIN.
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